
1

qm=;= cfof]hgfsf] gfd 

cfof]hgf 

;~rfng x'g] 

:yfg 

cg'dflgt nfut 

cfly{s ljsf;

1 s[lif ;DalGwt tflnd j*f g+= 1 100000

ko{^g

2 sGs]Zj/ lzjfno dlGb/ j*f g+= 1 100000

3 hgsNof)f cf=lj= sDkfp)*sf] b'uf{ dlGb/ lh)ff}{bf/ j*f g+= 1 100000

4 ^'g'j:tL b'uf{ dlGb/ lh)ff}{bf/ j*f g+= 1 50000

5 ;Gtdt ;T;+u ejg dxfef/f j*f g+= 1 100000

6 sfln dlGb/ xf]snjf/L %fgf %fpg] j*f g+= 1 50000

7 dxlif{d]xLsf] Wofg ;fwgf s]Gb| j*f g+= 1 50000

;fdflhs ljsf; tkm{ 

1 lzIff sfo{qmd j*f g+= 1 500000

2 :jf:Yo sfo{qmd j*f g+= 1 200000

afnaflnsf

1 OGb|])fL jfn ljsf; j*f g+= 1 100000

cflbaf;L hghflt

1 wfguf*f dxf/fh yfg lh)ff}{bf/ j*f g+= 1 100000

2 eG;f/ dxf/fh yfg lh)ff}{bf/ j*f g+= 1 100000

3 cf}Nof jfjf dlGb/ b]jLuf*f lh)ff{bf/ j*f g+= 1 100000

k'jf{wf/ ljsf; tkm{ 

phf{, n#" tyf ;fgf hnljB't

1 s[lifsf] nflu ljB't j*f g+= 1 400000

ejg tyf zx/L ljsf;

1 ;fd'bflos ejg xf]snjf/L j*f g+= 1 100000

;*s tyf k"n

1 x|o'd kfOk vl/b j*f g+= 1 800000

2 rf}lj; ^f]n hfg] ;*s u|fe]n j*f g+= 1 200000

3 OGb|])fL k|f=lj= k"j{ ;*s j*f g+= 1 300000

4 lj/ axfb'/ ^f]n ;*s j*f g+= 1 200000

5 /fd s'df/ >]i&sf] #/ klZrd ;*sdf df^f]sf] sfd j*f g+= 1 100000

6 k[YjL gf/fo)f cf=lj= klZrd ;*s u|fe]n j*f g+= 1 200000

7 df]ltnfnsf] #/b]lv efunfn #/;Dd af^f] j*f g+= 1 200000

8

v*\s l;+xsf] #/ b]lv x'nfsL ;*s ;Ddsf] ;*sdf 

df^f]sf] sfd j*f g+= 1 200000

9 nIdL >]i&sf] #/ k"j{ af^f]df df^f]sf] sfd j*f g+= 1 50000

10

;'wf? /fhj+zLsf] #/ x'b} yfkf sNe^{ b]lv gs'n 

/fhj+zLsf] #/;Dd ;*s u|fe]n j*f g+= 1 500000

11 s]zj e§/fO{sf] #/ k"j{ ;*s u|fe]n j*f g+= 1 100000

uf}/Lu+h ufp+kflnsf 

ufp+ sfo{kflnsfsf] sfof{no

1 g+= j*f sfof{no

j*f:t/Lo sfo{qmd



qm=;= cfof]hgfsf] gfd 

cfof]hgf 

;~rfng x'g] 

:yfg 

cg'dflgt nfut 

uf}/Lu+h ufp+kflnsf 

ufp+ sfo{kflnsfsf] sfof{no

1 g+= j*f sfof{no

j*f:t/Lo sfo{qmd

12

lzjfno dlGb/ b]lv xl/ /fhj+zLsf] #/ ;Dd ;*s 

u|fe]n j*f g+= 1 100000

13 dx]z nfnsf] #/b]lv ;'jf;sf] #/;Dd ;*s u|fe]n j*f g+= 1 100000

14

lty{ tfhk"l/ofsf] #/b]lv k"j{ rGb| k|;fb e§/fOsf] 

ufphfg] af^f] j*f g+= 1 400000

15

l^sf ('+ufgfsf] #/ klZrd l;dn rf}s x'b} kfruf%L 

l;dfgf b]lv k'/fgf] gSzfsf] ;*s x'b} ;}lgs rf}s 

hf]*\g] ;*s u|fe]n j*f g+= 1 200000

16 ;'s'Djf;L ^f]nb]lv l^sf ('+ufgfsf] #/;Dd ;*s u|fe]n j*f g+= 1 200000

17 ;}lgs rf}sb]lv ljqmd /fO{sf] #/;Dd ;*s u|fe]n j*f g+= 1 300000

18

eG;f/ rf}s, g'lgof /fhj+zLsf] #/b]lv /fdbn 

nfjtL#/ eG;f/ ahf/;Dd ;*s u|fe]n j*f g+= 1 300000

19 xl/ /fhj+zLsf] #/b]lv k"j{ klZrd ;*s u|fe]n j*f g+= 1 300000

20

jfn'jf*L klZrd sNe^{ b]lv lj/ jxfb'/ bhL{sf] #/ 

x'b} dxf/fhyfg hfg] af^f]df df^f]sf] sfd j*f g+= 1 100000

21 gf}n l;+x yfkfsf] #/tkm{ hfg] af^f]df df^f] k'/fO{ j*f g+= 1 100000

22 ^'g'j:tL b]lv /+luofyfg hfg] af^f]sf] sNe^{ dd{t j*f g+= 1 200000

23

z'ef e)*f/Lsf] #/b]lv a;Gt /fhj+zLsf] #/;Dd af^f] 

lgdf{)f j*f g+= 1 100000

24 lhDbf/ rf}s klZrd ;'s'Daf;L hfg] af^f] j*f g+= 1 150000

25 /]*qm; ejg b]lv uf]kfn /fhj+zLsf] #/ hfg] af^f] 200000

jftfj/)f tyf ljkb\ Joj:yfkg 

1 ^+s >]i&sf] #/ klZrd t^aGwg j*f g+= 1 200000

;'zf;g tyf ;+:yfut ljsf; 

1 dxfef/f k|x/L rf}sL  -;fj{hlgs ;'/Iff_ j*f g+= 1 25000

2 s'lGhaf/L k|x/L rf}sL -;fj{hlgs ;'/Iff_ j*f g+= 1 25000

8000000

ufp+ sfo{kflnsfsf] sfof{no

2 g+= j*f sfof{no

j*f:t/Lo sfo{qmd

uf}/Lu+h ufp+kflnsf 



3

qm=;= cfof]hgfsf] gfd 

cfof]hgf 

;~rfng x'g] 

:yfg 

cg'dflgt nfut 

uf}/Lu+h ufp+kflnsf 

ufp+ sfo{kflnsfsf] sfof{no

1 g+= j*f sfof{no

j*f:t/Lo sfo{qmd

qm=;= cfof]hgfsf] gfd 

cfof]hgf 

;~rfng x'g] 

:yfg 

cg'dflgt nfut 

cfly{s ljsf;

s[lif tkm{ 

1 s[lif ljsf; sfo{qmd 70÷30 ;fe]]mbf/L sfo{qmd j*f g+= 2 1930000

ko{^g

1 lzjfno dlGb/ ;fljs sf]/f]jf/L j*f g+=7 j*f g+= 2 50000

2 sflnbf;sf] sfln dlGb/ dd{t j*f g+= 2 100000

3 hfd'g bf;sf] xg'dfg lgdf{)f j*f g+= 2 50000

4 t'nfrg ;Gyfn a:tL dfemL yfg lgdf{)f j*f g+= 2 50000

5 efs'/df/L ldng rf}tf/L lgdf{)f j*f g+= 2 100000

6 x]dgf*fuL ^f]nsf] rr{df zf}rfno lgdf{)f j*f g+= 2 50000

7 x]dgf*fuL dfemLyfg lgdf{)f j*f g+= 2 50000

;fdflhs tkm{ 

vfg]kfgL tyf ;/;kmfO{

1 vfg]kfgL ^\o"a]n ljt/)f j*f g+= 2 200000

n}+lus ;dfgtf tyf ;fdflhs ;dfj]zLs/)f

dlxnf tkm{ 

1 cWoog cjnf]sg e|d)f j*f g+= 2 60000

2 #/]n' lx+;f ;DalGw tflnd j*f g+= 2 60000

3 ;r]tgf s]Gb| lgdf)f{ t'nfrg j*f g+= 2 100000

afnaflnsf tkm{

1

;fd'bflos ljBfnodf cWoog/t ljBfyL{x?nfO{ emf]nf 

ljt/)f sfo{qmd ;+rfng j*f g+= 2 80000

cflbjf;L hghflt tkm{ 

1 Nxf]%f/ kj{ j*f g+= 2 15000

2 cflbjf;L tkm{ cGo sfo{{qmd j*f g+= 2 85000

blnt ju{ tkm{ 

1

blnt ju{sf df=lj= txsf ljBfyL{x?nfO{ ;fOsn 

ljt/)f j*f g+= 2 55000

Ho]i& gful/s tkm{ 

1 Ho]i& gful/s ;Ddfg tyf %ftf ljt/)f sfo{qmd j*f g+= 2 55000

ckf+u tkm{ 

1 ckf+utf ;xfos ;fdfu|L ljt/)f j*f g+= 2 55000

lk%*f ju{ tkm{ 

1 dxf/fh yfg dd{t zf]let ofbjsf] #/ pQ/ j*f g+= 2 55000

k'jf{wf/ ljsf; tkm{ 



qm=;= cfof]hgfsf] gfd 

cfof]hgf 

;~rfng x'g] 

:yfg 

cg'dflgt nfut 

uf}/Lu+h ufp+kflnsf 

ufp+ sfo{kflnsfsf] sfof{no

1 g+= j*f sfof{no

j*f:t/Lo sfo{qmd

1

cfnsrg /fhj+zLsf] #/ b]lv blIf)f efs"/df/L hfg] 

af^f] :t/f]GgtL j*f g+= 2 700000

2 xkgf d*L{sf] #/ b]lv k"j{ blIf)f x'b} hfg] af^f] u|fe]n j*f g+= 2 700000

3

gsfg' /fhj+zLsf] #/ b]lv pQ/ ls:gL ^f/#f^ tkm{ 

hfg] af^f]  j*f g+= 2 500000

4 lqd'lt{ rf}+s b]lv ;'s'Djf;L ^f]n hfg] af^f] j*f g+= 2 300000

5 t]nL ldn b]lv ldof ^f]n hfg] af^f] j*f g+= 2 200000

6 clVtof/ sNe^{ u|fe]n af^f] hf]*g] af^f] u|fe]n j*f g+= 2 300000

7 t]hgf/fo)fsf]] #/ b]lv klZrd hfg] af^f] j*f g+= 2 100000

8 Xo"d kfOk vl/b j*f g+= 2 500000

pmhf{

1 phf{ ;f]nf/ ljt/)f j*f g+= 2 100000

kmf]xf]/d}nf Joj:yfkg

2 k")f{ ;/;kmfO{ sfo{qmd j*f g+= 2 200000

cGo lgdf{)f

1
j*f sfof{nosf] k|f+u)fdf df^f] k'/]ofO ;lxt ^fnL 

nufpg] j*f g+= 2 200000

;+:yfut ljsf;

1
sd{rf/L tyf kbflwsf/Lx?sf] cWoog cjnf]sg e|d)f j*f g+= 2 200000

7200000

qm=;++ cfof]hgfsf] gfd
cfof]hgf 

:yn
ljlgof]lht /sd

ko{^g tyf ;:s[lt

1 bGtsfnL dlGb/ u]6 ;lxtsf] 3]/fj]/f j8f g+= # 200,000

2 dxtf] ;dfh sNof0f kl/ifb 3]/fj]/f j8f g+= # 300,000

3 /fd hfgsL dlGb/ 3]/fj]/f j8f g+= # 100,000

4 ;'bfdle§f dxf/fhyfg ejg lgdf{0f j8f g+= # 100,000

3 g+= j*f sfof{no

j*f:t/Lo sfo{qmd

uf}/Lu+h ufp+kflnsf 

ufp+ sfo{kflnsfsf] sfof{no



5

qm=;= cfof]hgfsf] gfd 

cfof]hgf 

;~rfng x'g] 

:yfg 

cg'dflgt nfut 

uf}/Lu+h ufp+kflnsf 

ufp+ sfo{kflnsfsf] sfof{no

1 g+= j*f sfof{no

j*f:t/Lo sfo{qmd

5 x'Ssfuf5L tfhk'l/of 6f]nsf] dxf/fhyfg lgdf{0f j8f g+= # 100,000

6 k|sfz ;'gf/sf] 6f]nsf] dxf/fhyfg lgdf{0f j8f g+= # 50,000

pBf]u 

1 pBf]u jfl0fHo ;+3sf] ;dGjodf d]nf cfof]hgf j8f g+= # 100,000

k"jf{wf/ ljsf;

1 x|bo 7fs'/sf] 3/ b]lv ufpkflnsf hf]8\g] ;8s u|fe]n j8f g+= # 500,000

2 jfO;L6f]n s[i0f lu/Lsf] 3/ x'b} lrof aufg hfg] af6f] j8f g+= # 50,000

3 uf}/L6f]n b]lv vqL sfdb;Dd u|fe]n j8f g+= # 500,000

4 nfnl8uL k"j{ gx/b]lv sfsL{ 8f8f;Dd u|fe]n j8f g+= # 100,000

5 ufpkflnsf b]lv x'nfs hfg] ;8s u|fe]n j8f g+= # 50,000

6

g;?l2g ldofsf] 3/af6 pQ/ dx]znfn, tf/fsfGt 

bf;sf] 3/x'b} ljb]zLofsf] 3/;Dd u|fe]n j8f g+= # 500,000

7 lbg]z kf;jfgsf] 3/b]lv 3f6'df/L ;8s u|fe]n j8f g+= # 100,000

8 u0f]z dlGb/ b]lv pQ/ ;"o{ kf}8]nsf] 3/;Dd u|fe]n j8f g+= # 100,000

9

bGtsfnL b]lv pQ/ af}4dfu{ sdf{ nfSkf z]kf{sf] 3/ 

pQ/ sNof0f cfrfo{sf] sfdb n]vf vf]nf;Dd u|fe]n j8f g+= # 200,000

10

/fh' u8\tf}nfsf] 3/b]lv k'j{ 5'g du/sf] 3/;Dd 

u|fe]n j8f g+= # 100,000

11 uf]kfn dxtf]sf] 3/hfg] af6f] u|fe]n j8f g+= # 50,000

12

nId0f bf;sf] 3/b]lv zf]efsfGt bf;sf] 3/;Dd 

u|fe]n j8f g+= # 150,000

13 vfg]kfgL ;+:yfg lkraf6 klZrd ;8s u|fe]n j8f g+= # 50,000

14 x|o'd kfOk vl/b j8f g+= # 500,000

;fdflhs ljsf;



qm=;= cfof]hgfsf] gfd 

cfof]hgf 

;~rfng x'g] 

:yfg 

cg'dflgt nfut 

uf}/Lu+h ufp+kflnsf 

ufp+ sfo{kflnsfsf] sfof{no

1 g+= j*f sfof{no

j*f:t/Lo sfo{qmd

1 dlxnf nlIft sfo{qmd j8f g+= # 109,000

2 dlxnfx?nfO{ l;kd'ns tyf Ifdtf clej[l4 tflnd j8f g+= # 100,000

3 afnaflnsf nlIft sfo{qmd j8f g+= # 128,000

4 blnt ju{ nlIft sfo{qmd j8f g+= # 64,000

5

Ho]i7 gful/s ;Ddfg tyf cjnf]sg e|d0f -

;fem]bf/L_ j8f g+= # 64,000

6 ckfËx?nfO{ ckfËd}qL ;fdfu|L x:tfGt/0f j8f g+= # 64,000

7 dw]zL d':nLd lk58f ju{ nlIft sfo{qmd j8f g+= # 96,000

8 Ho]i7 gful/sx?sf] nflu x]Ny s]Gb| :yfkgf j8f g+= # 100,000

9

of]u tyf zf/Ll/s ;';+u7g ;fdfu|L tyf of]u s]Gb| 

:yfkgf j8f g+= # 300,000

ljB't lj:tf/

1 ;8s ;f]nf/ aQL !) j6f -;fe]mbf/L_ j8f g+= # 600,000

jg tyf jftfj/0f

1 x'Ssfuf5L nf; lrtf tyf lj>fd u[x lgdf{0f j8f g+= # 200,000

2 kmf]x/ Joj:yfkg ;fdfu|L ljt/0f ;fem]bf/Ldf j8f g+= # 150,000

3 ;8s / gbL lsgf/fdf j[Iff/f]k0f j8f g+= # 25,000

;+:yfut ljsf;

1 hgk|ltlglw / sd{rf/LnfO{ cjnf]sg e|d0f j8f g+= # 200,000

2 j8f:t/Lo ;fj{hlgs ;'g'jfO sfo{qmd j8f g+= # 100,000

;fj{hlgs ;'/Iff

1 ;'/Iff Joj:yfkg -;z:q k|x/L an_ j8f g+= # 50,000

2 O{nfsf k|x/L sfof{no j8f g+= # 125,000

3 6|flkms ;r]tgf sfo{qmd 25,000

6,400,000

uf}/Lu+h ufp+kflnsf 

ufp+ sfo{kflnsfsf] sfof{no

4 g+= j*f sfof{no



7

qm=;= cfof]hgfsf] gfd 

cfof]hgf 

;~rfng x'g] 

:yfg 

cg'dflgt nfut 

uf}/Lu+h ufp+kflnsf 

ufp+ sfo{kflnsfsf] sfof{no

1 g+= j*f sfof{no

j*f:t/Lo sfo{qmd

qm=;= cfof]hgfsf] gfd 

cfof]hgf 

;~rfng x'g] 

:yfg 

ljlgof]lht /sd

cfly{s ljsf;

1 s[lif sfo{qmd j8f g+= $ 200,000

ko{^g tyf ;+:s[tL

1 lbgf eb|L dlGb/ lgdf{0f j8f g+= $ 100,000

2 hou'? dlGb/ lgdf{0fqmdfut j8f g+= $ 250,000

3 /fd hfgsL dlGb/ lgdf{0f -bf?bf;_ j8f g+= $ 100,000

4 /fwfs[i0f dlGb/ lgdf{0f j8f g+= $ 150,000

5 b'uf{dlGb/ 5t 9nfO{ j8f g+= $ 100,000

6 ef]nfafaf dlGb/ lgdf{0f j8f g+= $ 100,000

7 hfuL/f sfnL dlGb/ lgdf{0f j8f g+= $ 100,000

8 dxf/fhyfg lgdf{0f ;Gtf]ifL dlGb/, ;'s'Daf;L j8f g+= $ 110,000

n}lËs ;dfgtf tyf ;fdflhs ;dfj]zLs/0f

dlxnf

1 dlxnf l;nfO{ a'gfO{ j8f g+= $ 120,000

2 dlxnf a'l6s tflnd j8f g+= $ 100,000

afnaflnsf

1 jfnjflnsfsf] nflu v]n;fdfu|L ljt/0f j8f g+= $ 70,000

2

P;=O=O= k/LIffdf pTs[i6 c+s Nofpg] $ g+= j8fsf 5fq5fqf 
dWo] % hgfnfO{ 5fqj[lQ -;fd'bflos ljBfno_ j8f g+= $ 50,000

3 cflbjf;L hghftL sDKo"6/ tlnd j8f g+= $ 90,000

4 dw]zL d':nLd lk58f ju{ sDKo"6/ tflnd j8f g+= $ 90,000

5 blnt ju{sf nflu jfv|f ljt/0f sfo{qmd j8f g+= $ 60,000

6 ckfËtfsf nflu Gofgf] sk8f ljt/0f j8f g+= $ 60,000

7 Ho]i7 gful/sx?nfO{ 5ftf ljt/0f j8f g+= $ 60,000

o"jf tyf v]ns"b

1 v]nd}bfg Joj:yfkg tyf 3]/fj]/f j8f g+= $ 200,000

2 j8f :t/Lo sfo{qmd -v]ns'b_ j8f g+= $ 100,000

k"jf{wf/ ljsf; tkm{ 

;*s

1 ejfgLk'/ kf]v/L klZrd ;8s u|fe]n j8f g+= $ 300,000

j*f:t/Lo sfo{qmd



qm=;= cfof]hgfsf] gfd 

cfof]hgf 

;~rfng x'g] 

:yfg 

cg'dflgt nfut 

uf}/Lu+h ufp+kflnsf 

ufp+ sfo{kflnsfsf] sfof{no

1 g+= j*f sfof{no

j*f:t/Lo sfo{qmd

2 hou'? dlGb/ klZrd uf}/Lof vf]nf ;8s u|fe]n j8f g+= $ 300,000

3 ;'lg/fd 6'8'sf] 3/ b]lv uf}/Lof vf]nf af6f] u|fe]n j8f g+= $ 400,000

4 cNtfjf/L k"j{ kms]l6e x'b} sb'le§f sNe6{ ;Dd af6f] u|fe]n j8f g+= $ 400,000

5 /fd gf/fof0f 3/ klZrd uf}/Lof vf]nf ;8s u|fe]n j8f g+= $ 200,000

6 6]k'jfsf] 3/ b]lv x|bosf] 3/ ;Dd af6f] u|fe]n j8f g+= $ 200,000

7

s[i0f tfhk"l/ofsf] 3/ k"j{ ls:gL vf]nf af6f] lgdf{0f tyf 
u|fe]n j8f g+= $ 200,000

8 l;df k|x/L rf}+sL klZrd af6f] u|fe]n j8f g+= $ 200,000

9 Zofd tfhk"l/ofsf] 3/ b]lv sdnsf] 3/ ;Ddsf] af6f] lgdf{0f j8f g+= $ 100,000

10 x|o"d kfOk vl/b j8f g+= $ 400,000

ljB"t

1 ljB't lj:tf/ j8f g+= $ 200,000

2 ;f]nf/ ljt/0f -phf{_ j8f g+= $ 250,000

cGo lgdf{)f

1 l;df k|x/L rf}+sL 3]/fj]/f j8f g+= $ 150,000

2 l;df k|x/L rf}sL k|ltIffno dd{t j8f g+= $ 50,000

3 k|ltIffno lgdf{0f ejfgLk'/ j8f g+= $ 100,000

4 ;/:jtL k|flj= 5]p k|ltIffno lgdf{0f j8f g+= $ 50,000

5 k|ltIffno lgdf{0f 8Dd/sf] 3/ 5]p j8f g+= $ 100,000

jg tyf jftfj/)f

1 k"0f{ ;/;kmfO{ sfo{qmd j8f g+= $ 50,000

2 uf}r/0f Joj:yfkg ls:gL vf]nf j8f g+= $ 50,000

;'zf;g tyf ;+:yfut ljsf; 

34 hgk|ltlglw / sd{rf/Lx?sf] cjnf]sg e|d0f j8f g+= $ 90,000

6,000,000

uf}/Lu+h ufp+kflnsf 

ufp+ sfo{kflnsfsf] sfof{no

5 g+= j*f sfof{no

j*f:t/Lo sfo{qmd



9

qm=;= cfof]hgfsf] gfd 

cfof]hgf 

;~rfng x'g] 

:yfg 

cg'dflgt nfut 

uf}/Lu+h ufp+kflnsf 

ufp+ sfo{kflnsfsf] sfof{no

1 g+= j*f sfof{no

j*f:t/Lo sfo{qmd

qm=;++ cfof]hgfsf] gfd
cfof]hgf 

:yn
cg'dfgLt nfut

s[lif

1 l;+rfO{sf] nfuL l8k af]/LË j8f g+= % 500000

2 l;rfO l8hn kDk j8f g+= % 500000

ko{6g tyf ;:s[lt

1 dxf/fh yfg lgdf{0f 8fuL 6f]nf j8f g+= % 40000

2 dxf/fh yfg lgdf{0f kmQ]k'/ j8f g+= % 40000

3 dxf/fh yfg lgdf{0f x/L/f j8f g+= % 40000

4 5xf/L rf]s ;tf/ j:tL ;Gyfn dlGb/ lgdf{0f j8f g+= % 40000

vfg]kfgL tyf ;/;kmfO

2 vfg]kfgL 6\o"j]n v/Lb j8f g+= % 75000

n}+lus ;dfgtf tyf ;fdflhs ;dfj]zLs/0f

1 dlxnf nIfLt of]hgf j8f g+= % 120000
2 jfnjfnlsf nIfLtof]hgf j8f g+= % 120000
3 cflbjf;L hghftL nIfLt of]hgf j8f g+= % 90000
4 bnLt nIfLt of]hgf j8f g+= % 90000
5 h]i7 gfu/Ls nIfLt of]hgf j8f g+= % 60000
6 cfkfËnIfLt of]hgf j8f g+= % 60000
7 dw]zL d':nLd nIfLt of]hgf j8f g+= % 90000

;8s

1
s[i0fsf] 3/ b]lv klZrd kf]v/L ;Dd ;8s u|fe]n lgdf{0f j8f g+= %

200000

2
dnfxf 6f]nL b]lv wfw/f vf]nf x'b} lji0f' ax' eflifs ljwfno 

;Dd ;8s u|fe]n lgdf{0f

j8f g+= %

1500000

3
tf/frg sf] 3/ b]lv uf}/fbx g=kf= ;Dd ;8s :t/f]GgtL j8f g+= %

400000

4 dNxf6f]nL ljdn zfxsf] 3/ b]lv af]8{/;Dd ;8s j8f g+= % 100000

5
wg a= rf]s b]lv blIf0f /fd eh'sf] 3/ x'b} /t'jf vf]nf ;Dd 

;8s u|fe]n lgdf{0f

j8f g+= %

200000

6 xo"d kfO{k v/Lb j8f g+= % 310000

9
hubLzsf] 3/ b]lv ;tf/ j:tL x'b} x'nfls ;8s ;Dd ;8s 

u|fe]n lgdf{0f

j8f g+= %

200000



qm=;= cfof]hgfsf] gfd 

cfof]hgf 

;~rfng x'g] 

:yfg 

cg'dflgt nfut 

uf}/Lu+h ufp+kflnsf 

ufp+ sfo{kflnsfsf] sfof{no

1 g+= j*f sfof{no

j*f:t/Lo sfo{qmd

10
dNxf6f]nL dxf/fh yfg b]lv d]g af6f] ;Dd u|fe]n lgdf{0f

j8f g+= %

160000

11 klgnfnsf] 3/ b]lv lrNxf/f ;8s df6f]sf] sfd j8f g+= % 150000

12 dd{t ;Def/ j8f g+= % 115000

ljB"t

1 ;f]nf/ alQ ljt/0f j8f g+= % 150000

2 l;+rfO{sf] nfuL ljw't lj:tf/ j8f g+= % 400000

;/;kmfO{ Joj:yfkg

1 k"0f{ ;/;kmfO{ j8f g+= % 150000

;+:yfut ljsf;

1 hgk|ltlglw tyf sd{rf/Lx?sf] cjnf]sg e|d0f j8f g+= % 100000

6000000

qm=;++ cfof]hgfsf] gfd
cfof]hgf 

:yn
cg'dfgLt nfut

s[lif ljsf;

1 vh'/uf5L jhf/df s[lif 6x/f lgdf{0f j8f g+= ^ 400000

2 s[lif ljsf; sfo{qmd j8f g+= ^ 1000000

ko{6g tyf ;:s[lt j8f g+= ^

1 ;"o{ gf/fo0f 56L d}of dlGb/ lgdf{0f j8f g+= ^ 100000

2 b]jLu+h b'uf{ dlGb/ dd{t j8f g+= ^ 100000

3 8f}jfjf/L dxf/fh yfg lgdf{0f j8f g+= ^ 50000

4 j8f sfof{no ejg cuf8L dxf/fh yfg lgdf{0f j8f g+= ^ 50000

5 uf}/Lof8fuL cuf8L dxf/fh yfg lgdf{0f j8f g+= ^ 50000

6 b]jLu+h ;T;+u dlGb/ ghLs dxf/fh yfg lgdf{0f j8f g+= ^ 50000

7 ;f=^÷& g+ lar dxf/fh yfgdf pm+ zflGt 6|i6 lgdf{0f j8f g+= ^ 200000

uf}/Lu+h ufp+kflnsf 

ufp+ sfo{kflnsfsf] sfof{no

6 g+= j*f sfof{no

j*f:t/Lo sfo{qmd
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qm=;= cfof]hgfsf] gfd 

cfof]hgf 

;~rfng x'g] 

:yfg 

cg'dflgt nfut 

uf}/Lu+h ufp+kflnsf 

ufp+ sfo{kflnsfsf] sfof{no

1 g+= j*f sfof{no

j*f:t/Lo sfo{qmd

8 ;Gtf]ifLdftf dlGb/ lgdf{0f j8f g+= ^ 100000

9 cf7df}hf sj/:yfg 3]/fj]/f j8f g+= ^ 100000

10 cf7df}hf dl:hb 3]/fa]/f j8f g+= ^ 100000

11 b]lju+u blIf0f 6f]n dxf/fhyfg lgdf{0f j8f g+= ^ 50000

vfg]kfgL tyf ;/;kmfO{

1 vfg]kfgL 6\o"j]n v/Lb j8f g+= ^ 135000

n}+lus ;dfgtf tyf ;fdflhs ;dfj]zLs/)f

1 dlxnf nIfLt of]hgf j8f g+= ^ 128000

2 jfnjflnsf nIfLt of]hgf j8f g+= ^ 128000

3 cflbjf;L hghftL nIfLt of]hgf j8f g+= ^ 96000

4 bnLt nIfLt of]hgf j8f g+= ^ 64000

5 h]i7 gfu/Ls nIfLt of]hgf j8f g+= ^ 64000

6 cfkfËnIfLt of]hgf j8f g+= ^ 64000

7 dw]zL d':nLd nIfLt of]hgf j8f g+= ^ 96000

;8s tyf k'n

1

;"o{ nfn dflemsf] 3/ b]lv wfw/f vf]nf ;Dd ;8s u|fe]n 

lgdf{0f j8f g+= ^ 600000

2

/fh]Gb| rf}w/L sf] sf6f b]lv uof k|= /fha+zlsf] 3/ x'b} >L 

k|= /fha+zLsf] 3/ ;Dd ;8s :t/f]GgtL lgdf{0f j8f g+= ^ 250000

4

8f}jf jf/L e}/j a= sfls{sf]3/ pQ/ axfb'/ ofbjsf] 3/ x'b} 

rGb| ofbjsf] 3/ ;Dd ;8s u|fe]n lgdf{0f j8f g+= ^ 125000

5

jfuwg /fO{sf] 3/ pQ/ klzrd lrGtf dflemsf] 3/ ;Dd 

;8s :t/f]GgtL lgdf{0f j8f g+= ^ 300000

6

8f}jfjf/L s[i0f /fha+zLsf] 3/ klZrd jf]3 /fh ofbjsf] 3/ 

;Dd ;8s u|fe]n lgdf{0f j8f g+= ^ 50000

7 kmf?s ;/sf] 3/ hfg] ;8s u|fe]n lgdf{0f j8f g+= ^ 100000

8

/fd a= /fO{sf] 3/ b]lv klZrd /fd rGb| vf]nf ;Dd ;8s 

u|fe]n lgdf{0f j8f g+= ^ 100000

9 ;'O{of vf]nf k'n dd{t sfo{ j8f g+= ^ 150000

10

u|Lid /fO{sf] 3/ b]lv klZrd pQ/ ;8s u|fe]n lgdf{0f -lai6 

sfdt_ j8f g+= ^ 200000



qm=;= cfof]hgfsf] gfd 

cfof]hgf 

;~rfng x'g] 

:yfg 

cg'dflgt nfut 

uf}/Lu+h ufp+kflnsf 

ufp+ sfo{kflnsfsf] sfof{no

1 g+= j*f sfof{no

j*f:t/Lo sfo{qmd

11 efuL/y 3/ b]lv gof j:tL ;Dd ;8s u|fe]n lgdf{0f j8f g+= ^ 300000

12 xo"d kfO{k v/Lb j8f g+= ^ 450000

cGo lgdf{0f j8f g+= ^

1 uf}/Lof8fuL d;fg 3f6 lgdf{0f j8f g+= ^ 100000

jftfj/0f j8f g+= ^

1 k"0f{ ;/;kmfO{ j8f g+= ^ 100000

2 ;fj{hlgs zf}rfno lgdf{0f j8f g+= ^ 250000

3 8f}jf jf/L kf]v/L ;+/If0f j8f g+= ^ 100000

;+:yfut ljsf;

1 cjnf]sg e|d0f j8f g+= ^ 100000

6400000
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s}lkmot

uf}/Lu+h ufp+kflnsf 

ufp+ sfo{kflnsfsf] sfof{no

1 g+= j*f sfof{no

j*f:t/Lo sfo{qmd



s}lkmot

uf}/Lu+h ufp+kflnsf 

ufp+ sfo{kflnsfsf] sfof{no

1 g+= j*f sfof{no

j*f:t/Lo sfo{qmd

ufp+ sfo{kflnsfsf] sfof{no

2 g+= j*f sfof{no

j*f:t/Lo sfo{qmd

uf}/Lu+h ufp+kflnsf 
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s}lkmot

uf}/Lu+h ufp+kflnsf 

ufp+ sfo{kflnsfsf] sfof{no

1 g+= j*f sfof{no

j*f:t/Lo sfo{qmd

s}lkmot



s}lkmot

uf}/Lu+h ufp+kflnsf 

ufp+ sfo{kflnsfsf] sfof{no

1 g+= j*f sfof{no

j*f:t/Lo sfo{qmd

s}lkmot

3 g+= j*f sfof{no

j*f:t/Lo sfo{qmd

uf}/Lu+h ufp+kflnsf 

ufp+ sfo{kflnsfsf] sfof{no
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s}lkmot

uf}/Lu+h ufp+kflnsf 

ufp+ sfo{kflnsfsf] sfof{no

1 g+= j*f sfof{no

j*f:t/Lo sfo{qmd



s}lkmot

uf}/Lu+h ufp+kflnsf 

ufp+ sfo{kflnsfsf] sfof{no

1 g+= j*f sfof{no

j*f:t/Lo sfo{qmd

uf}/Lu+h ufp+kflnsf 

ufp+ sfo{kflnsfsf] sfof{no

4 g+= j*f sfof{no
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s}lkmot

uf}/Lu+h ufp+kflnsf 

ufp+ sfo{kflnsfsf] sfof{no

1 g+= j*f sfof{no

j*f:t/Lo sfo{qmd

s}lkmot

j*f:t/Lo sfo{qmd



s}lkmot

uf}/Lu+h ufp+kflnsf 

ufp+ sfo{kflnsfsf] sfof{no

1 g+= j*f sfof{no

j*f:t/Lo sfo{qmd

uf}/Lu+h ufp+kflnsf 

ufp+ sfo{kflnsfsf] sfof{no

5 g+= j*f sfof{no

j*f:t/Lo sfo{qmd
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s}lkmot

uf}/Lu+h ufp+kflnsf 

ufp+ sfo{kflnsfsf] sfof{no

1 g+= j*f sfof{no

j*f:t/Lo sfo{qmd

s}lkmot



s}lkmot

uf}/Lu+h ufp+kflnsf 

ufp+ sfo{kflnsfsf] sfof{no

1 g+= j*f sfof{no

j*f:t/Lo sfo{qmd

s}lkmot

uf}/Lu+h ufp+kflnsf 

ufp+ sfo{kflnsfsf] sfof{no

6 g+= j*f sfof{no

j*f:t/Lo sfo{qmd
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s}lkmot

uf}/Lu+h ufp+kflnsf 

ufp+ sfo{kflnsfsf] sfof{no

1 g+= j*f sfof{no

j*f:t/Lo sfo{qmd



s}lkmot

uf}/Lu+h ufp+kflnsf 

ufp+ sfo{kflnsfsf] sfof{no

1 g+= j*f sfof{no

j*f:t/Lo sfo{qmd


